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Total Profit:
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Break-even Point: 
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Where:
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 EMBED Equation.3  [image: image6.wmf]
Example:
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(a) volume =

300

TC (total cost) =

27,500

        

 

(Fixed cost + volume*variable cost)

TR (total revenue) =

54,000

        

 

(volume*Price)

Profit =

26,500

        

 

(TR - TC)

(b) volume =

69.57

tables

(fixed cost/(price - variable cost))


Probability and Statistics:

P(A or B) = P(A) + P(B) – P(AB)

Where 

P(A or B) = probability event A or B or both will occur,


P(A) = probability event A will occur,


P(B) = probability event B will occur,


P(AB) = probability that both event A and B will occur.
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